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F–2710   

U.G. DEGREE EXAMINATION, NOVEMBER 2019 

Mathematics 

Allied —  OPTIMIZATION TECHNIQUES 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define : Linear Programming Problem. 

 Áøµ¯Ö : J¸£i ö\¯ÀvmhU PnUS. 

2. What is a feasible solution? 

 \õzv¯z wº¦ GßÓõÀ GßÚ? 

3. Define : Simplex variable. 

 Áøµ¯Ö : ]®¨ÍUì •øÓ. 

4. What is a surplus variable? 

 E£› ©õÔ GßÓõÀ GßÚ? 

5. Define a T.P. 

 J¸ T.P. I Áøµ¯Ö. 
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6. What is a Unbalance T.P.? 

 \©ÚØÓ T.P. GßÓõÀ GßÚ? 

7. Define an assignment problem. 

 JxURmk PnUøP Áøµ¯Ö. 

8. Define : Balanced assignment problem. 

 Áøµ¯Ö : \©©õÚ JxURmkU PnUS. 

9. What is a sequencing problem? 

 J¸ Á›ø\£kzxuÀ PnUS GßÓõÀ GßÚ? 

10. Write the formula for total elapsed time. 

 ö©õzuUPõ» AÍÄ Põq® `zvµzøu GÊxP. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the mathematical formulation of a LPP 

with an example. 

  J¸ LPP°ß Pou Aø©¨ø£ J¸ GkzxUPõmkhß 

ÂÁ›. 

Or 

 (b) Write any five uses of O.R. 

  O.R.ß H÷uÝ® I¢x £¯ßPøÍ GÊxP. 
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12. (a) Solve by Simplex method 

  ]®¨ÍUì •øÓ°À wºUP 

  Maximize 21 32 xxZ   

  

Subject to
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Or 

 (b) Solve by Simplex method 

  ]®¨ÍUì •øÓ°À wºUP 

  Maximize 321 32 xxxZ   

  

Subject to
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13. (a) Explain Least cost method.  

  «a]Ö ö\»Ä •øÓø¯ ÂÁ›. 

Or 

 (b) Solve by North West Corner rule. 

  Áh÷©ØS ‰ø» Âv°ß ‰»® wºUP 

 A B C Supply

C¸¨¦ 

1 50 30 220 1 

2 90 45 170 3 

3 250 200 50 4 

Demand 

÷uøÁ 
4 2 2  
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14. (a) Explain Hungarian method. 

  í[÷P›¯ß •øÓø¯ ÂÁ›. 

Or 

 (b) Write the mathematical formulation of an 

assignment problem. 

  JxURmkU PnUQß Pou Aø©¨¤øÚ ÂÁ›. 

15. (a) Explain the sequencing problem on n jobs with  

2 machines. 

  ‘n’ ÷Áø»PÒ 2 C¯¢vµ Á›ø\¨£kzxuÀ PnUøP 

ÂÁ›. 

Or 

 (b) Solve the sequencing problem. 

  Á›ø\¨£kzxuÀ PnUøP wºUP 

  Job 

  1 2 3 4 5 6 

A 5 9 4 7 8 6 Machines 

C¯¢vµ® B 7 4 8 3 9 5 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Solve Graphically : 

 Áøµ£h •øÓ°À wºUP  

 Maximize 21 23 xxZ   

 

Subject to
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17. Explain Simplex procedure. 

 ]®¨ÍUì •øÓø¯ ÂÁ›. 

18. Solve by Vogel’s approximation method 

 ÷ÁõPÀ ÷uõµõ¯ •øÓø¯¨ £¯ß£kzv wºUP 

 A B C D E F Supply

C¸¨¦ 

1 9 12 9 6 9 10 5 

2 7 3 7 7 5 5 6 

3 6 5 9 11 3 11 2 

4 6 8 11 2 2 10 9 

Demand 

÷uøÁ 

4 4 6 2 4 2  

19. Solve the A.P. by Hungarian method 

 A.P. I í[÷P›¯ß •øÓ°À wºUP : 

  Jobs 

÷Áø»PÒ 

  1 2 3 4 5 

A 8 4 2 6 1 

B 0 9 5 5 4 

C 3 8 9 2 6 

D 4 3 1 0 3 

 

 

Person 

|£ºPÒ 

E 9 5 8 9 5 
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20. Solve the following sequencing problem and find idle time 

 RÌÁ¸® Á›ø\£kzxuÀ PnUøP wº¢x ÷Áø»¯ØÓ 
÷|µzøuU PõsP. 

  Job 

÷Áø» 

  1 2 3 4 5 6 

A 8 3 7 2 5 1 

B 3 4 5 2 1 6 

 

Machine 

C¯¢vµ® 
C 8 7 6 9 10 9 

 

 

 

———————— 


